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Time:0

Bacteria that have specialized cell wall and plasma membrane structures to live and
withstand the extreme environmental conditions
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Cyanobacteria
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Archaebacteria
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Mycoplasma
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A student has identified certam fungi given below and classified under this number of
classes.

Mucor, Claviceps, Puccinia, Albugo, Neurospora
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Time: 0

Choose the correct answer from the given statements below
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Cellular organization of the body is not required for metabolism
 $88085" E6a00DErdEN £ S0DOLD 9HVGHN T
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Non living organism also shows reproduction
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Reproduction is synonymous with the growth in Amoeba
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Response of environment on living organism is called Iiritability
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The correct combinations among the following

I  Artificial gene synthesis H.G.Khorana  Cell Biology
II  Pollen Science P.K.K. Nair Polynology
Il Respiration Arnon Physiology
IV Phylogenetic classification ~ Bessey Taxonomy
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Choose the correct statement related to the morphology of Cassia
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Options :
Valvate aestivation. Actinomorphic, corymb
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Imbricate aestivation, zygomorphic, corymb

|, RODIE HABID, FEES DB, DLID

Imbricate aestivation, zygomorphic. umbel
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Valvate aestivation. zygomorphic, umbel
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Choose the set of wrong combinations

A) Acacia  Phyllode Petiole

B) Nepenthes Insectivorous plant Nitrogen requirement
C) Hibiscus  Two leaves at each nodes Alternate

D)Neem  Number of leaflets attached at common point Pinnately compound
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Arrange the following events in the correct sequence during the process of
fertilization in Angiosperms

I  Fusion of other male gamete with polar nuclei

II Transfer of pollen grains from anther to stigma
IIT Fusion of male gamete with egg nucleus

IV Release of male gametes into cytoplasm synergid
V' Pollen tube formation
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Match the following

List I List II

A) Orthotropous I) Bean
B) Compylotropous IT) Sunflower
C) Anatropous ITT) Polygomim
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List I1I
1) Straight to funiculus
ii) 180” to funiculus
1i1) 90" to funiculus
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The following plant is characterized by trimerous flowers, superior and trilocular
ovary with axile placentation.
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Solanum nigrum

| x Terdd J0H

Yucca gloriosa
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Capsicum frutiscens
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Petunia alba
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The most abundant protein in the whole of the biosphere
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Collagen
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RuBisCO (Ribulose bisphosphate carboxylase — oxygenase)
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Insulin
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In the chromatin the charge of a DNA and associated proteins, number of types of

histones and copies are

A. Positive, Negative

B. Negative, Positive

WL,
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Find the correct sub phase based on arrangement of chromosomes during M — phase

M- 6596 S§ard’a © bsin o 288 eB#0 SR
Options :

Anaphase — Chromatin material in two poles

SO $% ~ Gotd Grarw HG SArHS Do
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Anaphase — Condensation of chromosomes

|, D00 &%~ £ar D0 © Dotfreao

Metaphase — Chromosomes lie at the equator

DGR €% — EAarJ’ oy en BB 958606080
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Metaphase — Chromatids attached at the kinetochore
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Number of base pairs i full tumn of the helical stand and the distance between base
pairs in B-DNA
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Match the following

ListI List IT

I) Well developed large pith A) Endodermis
IT) Casparian strips B) Monocot stem
I1T) Scelerenchymatous bundle sheath C) Dicot stem
IV) Endarch protoxylem D) Monocot root
2DV,
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1 = I-B, II-A, III-D, IV-C
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These features are not characteristics of dicotyledonous root
A. Radial vascular bundles.

B. Pith little or absent.

C. Vascular bundles 15 — 20

D. Cambium ring do not develop
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Time:0

The hypodermis tissues in dicot and monocot stems respectively
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Collenchyma and Sclerenchyma.
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Sclerenchyma and Collenchyma.
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Sclerenchyma in both.
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Collenchyma in both.
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Hydroponics was first demonstrated by
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Daniel E. Koshland
o o%eS @, TR ero&

1. &

Comelius Van Niel
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Julius Von Sachs
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T. W. Englemann
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Enzymes are denaturated by
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Time: 0

Choose incorrect statement related to diffusion
DEEZD DooHow) DB SEENGE ;)m;l%“mm
Options :

Transport by diffusion in plants is limited to short distance
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Diffusion 1s limited to short distance
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Diffusion is not dependent on a living system
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Energy 1s spent for the diffusion of substances
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Deficiency of the following causes Necrosis or death of leaf tissue
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> # N. S, Mo, Ca
; »Ca. Mg Cu K

4 % Mg. S, Mn, Zn
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“Transketolase” catalyses the following reaction
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G-3-P + DHAP and Fructose 6 P + G-3-P Reactions
G-3-P+ DHAP 08050 23 6P+ G-3-P Sdjen

1. %

Fructose-6 P + G-3-P and Sedoheptulose — 7-P + G-3-P Reactions

DER -6 P+ G-3-P 0808w DETRQEE -7-P + G-3-P e6en
2.9 % ®

G-3-P + DHAP and Erythrose -4-P + DHAP Reactions

3 % G-3-P + DHAP Ho8as ;)nga% -4-P + DHAP 60

Erythrose-4-P + DHAP and Sedoheptulose — 7-P + G-3-P Reactions
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Time:0

Choose the correct combinations from the following

A. Induce sprouting of Potato tubers — Ethylene

B. Kill the dicot weeds - Cytokinin

C. Increase in stalk length of grapes — Gibberellins

D. Induce apical dominance — Auxins
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Assertion (A) : C4 plant loses only half of the water compared to C3 plant for the

same amount of CO, fixed.

Reason (R) : C4photosynthetic system is evolved for maximizing the availability
of CO, while minimizing water loss.

o (4) 1 &8 Ao €0 Fodeh. (4208, (3308 §6'\ah A" o
g 63008,
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Options:

Both A and R are correct. R is the correct explanation for A.

. A 28030 R, So&kr H8ALOD. R 9008 A S 280D Deddea.
’l. .

Both A and R are correct, but R 1s not the correct explanation for A.

. A H08a3w R, o 28008 5°Q R @908 A £ 280D Dddes e,
2.

A 18 correct but R 1s incorrect.
L x A DODDG 52D R 28D Sme0.

A 1s mmcorrect but R 1s correct.
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The ascending order of molecules of the following compounds released during the
oxidation of two molecules of pyruvic acid

FADH;, CO,, NADH,
G0t PAIDS 23 eV ej%gédea Sl Nak Qc:iade.)dio]g & 306 ofFfisre
03B ey Se0a0

FADH,, CO,, NADH,

Options:
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Time: 0
The colour of chlorophyll “b” in the chromatogram.
§:50°85 e &5° D o8¢0 ‘D’ GR0g), HBB.
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Yellow orange
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Bright or blue green
L D08 Sor DY esdy

Yellow green
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The anatomical characteristic features of hydrophytes are

DS 2008 © 0SB U760 VEET

Options :

Well developed mechanical tissues.
eI°TT® e_ailbr;,cg WDoBRD C3TP0NS Searerre,

Thick epiderms
S00C e[ 86L 0

Hypostomatous leaves.

0085: DAGoTTANG DTFW.
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Epistomatous leaves.
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Assertion (A): There 1s rising cost for pollinator dependent fruits and vegetables.

Reason (R): Many pollinators are disrupted as they exist i isolation.

D2ydo (4) : DK 2006), TR s BEPEOED Dogd B LPETOLY

2668 s D:B00b.

5600 (R) : 9071 2008, 56570 Arr EJochody S0 BYBEFDHa)
Options :

Both A and R are correct and R is the correct explanation of A.
A 208050 R e Bodr DB, 08050 R 09086 AL D8 Ddde.
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Both A and R are correct but R is not the correct explanation of A.

5 A J08a30 R e Godir 28D, 5°Q R 09006 AL 28R DH8 5060,

A 15 correct but R 1s incorrect.

- A DZVE 57 R S,

A 1s incorrect but R 1s correct.
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The correct match among the following

Bacteria Disease
I Clostridium Botulism
IT Diplococciis Pneumonia
II1 Treponema Gonorrhoea
IV Neisseria Tetanus
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Structure of bacteriophages is complicated because they show

I.  Polyhedral symmetry
II.  Helical symmetry
III.  Bilateral symmetry
IV. Radial Symmetry

S8 S e Dodh T SO G0t s°Eeeo
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The number of phenotypes and their genotypic ratio found when heterozygous round
and yellow seeded pea plant crossed with other pea plant showing seeds with
wrinkled and heterozygous yellow

E}f’qmoim@a& ogo Bk DAY DT (v W 2T Etunégjcﬁa, Schdden
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Options :

Eight and 3:1:3:1
- D 0803w 3:1:3:1
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Six and 1:2:1:2
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The ratio of homozygous tall and dwarf plant in F, generation in monohybrid cross is

282088 20868085 Fy 6860 msbaesﬁ:) ooz T bato JE g
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Question Number : 32 Question Id : 5500532432 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Assertion (A): Cistron is a segment of DNA coding for a polypeptide.

Reason (R): Monocistronic structural genes are not splitted in Eukaryotes.

Ao (4) : D D& 20355y DNA 00gird) 2D eotrd.
56620 (R) : 3rS0Y 05 Aoy 7 S 200w duods &l wodTrohHod

SrC 60¢aY).
Options :
Both A and R are correct and R is correct explanation of A.

- A 508030 R 20 Gokor 28D, 08030 R 98008 AL 80 DOdes.

Both A and R are correct but R is not correct explanation of A.

- A 28030 R 20 Godir 28R, 3°Q R 298008 AL D01 DH0e 5260,

A 1s correct but R is incorrect.

- A RGVE 57 R &)y



A 1s mcorrect but R 1s correct.
4% A e:‘at.':p_');} 50 R 2326.
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This statement 1s incorrect related to genetic code.
208 TS & T[] 2] VOSS0HL V008D DBHE S,
Options :
The codon 1s triplet.

Ced 88 Hodehdo.

Some amino acids are coded by more than one codon.

L 50 o2 wiren w8 S8 dy S voderos rdosateon.

One codon codes one amino acid.

08 §d w8 RS BBV ATFD0E.

The code is nearly universal.

280 VoS0 FEISIOIS.
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Time: 0

Probes are

A. Gene specific short sequence

B. Single stranded DNA/RNA short fragment
C. Radioactive double stranded DNA

D. Used in colony hvbridization

5 e 90D

A 280§ DIPDOD T HED ghTen

B. 98 9’ DNA/RNA octo SBng), T8 Socsosd)
C. 8&airge8) s OAD TGocd J'csew DNA
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Options:
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Choose the correct pair for artificially restructured E.coli. cloning vector

I. pBR322 - Boliver and Rodrigues — Natural Vector
II. Selectable marker — Antibiotics - ampR. tet’

1L Restriction sites — Hind III, Pst - Link alien DNA
IV. roP — Protetns — supports high copy number

48200 8) 8,086k o) § 5 Noh arargoddh S0 T dvodd LB @S
3 J%0) S
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Study the below table and answer A, B. C

Rice varieties in India A
Varieties of Basmati rice grown in India | B
Year of U.S Patent on Basmati rice C

& So8 DES (oS0 B A, B, C © 237580 &0 YD

2GS B%085°D HB e A

2Oy B%0es’ DoADY )8 HTOE e | B

PR D6 680 P U.S DBots Jodd RodAGo | €

Options :

1. = A: 20216 B: 29 C: 1986

2 « A:1200000 Bi.27 C: 1997

o % A: 10000 B:

b
e

€2 1958

-2
LA

4 % A 15996 B: C: 1998

Question Number : 37 Question Id : 5500532437 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Among the following. the wrong statement related to Bt cotton.

Bt 5200 3 9080508 308 &S Jadn 20 S

Options:



Bt toxin protein exists as inactive protoxins
Bt &35 J&S day,08rdh) 8 B ot

1. %

The activated toxin binds to the surface of mid gut epithelial cells of insect

. CNEDRAENS derso & (5 5D EB6 Srro) o8] 080
2. ;

Protoxins are converted to form active toxin due to acidic pH

|, @ o o pH S0 Jerd\D Sairdw &3S ™ s
3. e L

Bt toxins are insect group specific

Bt &3S e 28rE DT DINS T &0
4, %

Question Number : 38 Question Id : 5500532438 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Conversion of milk into curd by lactic acid bacteria increases

35 OUrRE ergBoir TrTe PO DEXIT APENODNE DEMHE

Options :

Vitamin B12
1 Do Bl2

Vitamin D
Lo D
2. %



Vitamin C
e C

Vitamin E
4 % WD E

Question Number : 39 Question Id : 5500532439 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Match the following

List I List IT

L. Organogenesis A. Genetically identical
I1. Somatic Embryo B. Bamboo cultivation
II. Micro propagation  C. Production of shoots and roots
IV. Somaclones D. Structures from callus
2 DA

dae 1 Ao 11
L. 9550385 aﬁga‘)o A. 2R0FDC0TT DO E0LTa0

II. 7203 DHorreren B. D06

IIL. 2oeg) T§ C. sP0tme 08050 D &d\& LSasoe
IV. ParED e D. 50 &wod Jov)ren
Options :

.« ID IC IIB IVA

,»IC ID IB IVA



,x1IB IIA IID IVC

4% IC IIB IIA IVD

Question Number : 40 Question Id : 5500532440 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Assertion (A): Methanogens are present i the rumen of cattle.

Reason (R): They help in breakdown of cellulose and nutrition of cattle.

Ado (4):  DBS2 R ég%ﬁéoesﬁ E0tOR.
800 (R): a9 bm}geﬁe % ooy AN ERERRLCLA 20085 EDABTEEN.
Options :

Both A and R are correct and R is correct explanation of A.
A H08ai» R e Godtr 28R, o8asn R G AL 28R Dddes.

1. ®

Both A and R are correct but R 1s not correct explanation of A.

5 A H08a3 R en Gokor 20D, 370 R 298008 AL D8 DH6es Se.

A 1s correct but R 1s mcorrect.

A 2336 5D R &30y,
3. ®

A 1s mcorrect but R i1s correct.

A &2y 5°D R 238,
4. % =
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Section Id : 55005350
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Maximum Instruction Time : 0
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Question Number : 41 Question Id : 5500532441 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Rats belong to the class
Dense & DTTTIS Bodd 2dHen
Options :

Rodentia

. Sﬁi}om

Cetacea
e3aa035°

e"'-!?

Mamimalia

i éémﬂw



Carnivora

T5l55

Question Number : 42 Question Id : 5500532442 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the incorrect pair among the following

A. Biosphere reserve — Indo Burma region

B. Aravalli Hills — Rajasthan and Gujarat.

C. Koringa sanctuary - Uttarakhand.

D. Biodiversity hotspot — Himalayan region.

308 o785 L85 S HOoHAW.

A 8D I 20680 Sodo — Roll o), Joodo.
B. &50°59 DO(TRO0- TR D, (HRTS.

C. &8orr OFOITBE[0 - EIT oL

D. exA3r@H8 8 5% & - 2rdrecd Jrodo

Options:

1.2 B,C
5« A, C
3. A D

4 % B.D



Question Number : 43 Question Id : 5500532443 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Assertion (A) : Kidneys of vertebrates are called retroperitoneal organs.

Reason (R) : They are covered by parietal peritoneum only on their ventral side.

Ao (A) 1 BEFUTOS MrSDErURL SBIRD WHADITL Wotr .
600 (R) 1 Srgorre 666 erdods’ drgdy Farddino & go\wd

&0LQ.
Options :
Both A and R are correct and R is the correct explanation of A.

_— A 8030 R e Godiar 28D, 0803w R @9:0d8 AL 238 DdHdes.

Both A and R are correct but R is not the correct explanation of A.

. A 208050 R 0 Godr 2899, 5°9 R 00d8 AL 289 D566 576

A 1s correct but R 1s incorrect.

| A %338 520 R &2,

A is incorrect but R is correct.
A e:'sn:.y_):) 5° R 2808.

Question Number : 44 Question Id : 5500532444 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Assertion (A) : Mast cells secrete serotonin,
Reason (R) : Vasodilators cause inflammation in response to infection.

DAydo (4) 1 DD SoPen OED A AT
5280 (R): 65T¢ 3)3‘3:@9.:0 205300% eudodm av $dATFrow.

Options :
Both A and R are correct and R 1s the correct explanation of A,
A 208030 R en Sottr 20D, 080 R @908 A 38 DHdes.

1. %

Both A and R are correct but R is not the correct explanation of A.

5 @ A 508030 R e Godor 283, 57 R 098008 AL 08 Dd8es 5°cd.

A 1s correct but R 1s incoirect.

A 9336 529 R &3,
3. % o

A 1s incorrect but R 1s correct.

L« A B 5D R 2336,

Question Number : 45 Question Id : 5500532445 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Hyaline cartilage occurs in

A. Sternal part of the ribs

B. Pubic Symphysis.

C. Epiphyseal plate.

D. Vocal chords.

E. Epiglottis

F. Endoskeleton of cyclostomes

S5 mnxjcije_ﬁ;:‘g QD $DAHDD.

A Da0%0 %85% 23T

B. 22208 domradshn.

C. dpnaie Hestew.

D. A S:ﬁe:’ao 2.

E. &S,

F. 2§ Jooos’ eodoedidondin.

Options :

1.« A CF
2.$3 C‘,D.E
.« B.D.F

4. % A, C,D

Question Number : 46 Question Id : 5500532446 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Choose the incorrect statements regarding Hirudinea.

A. Male reproductive system has cirrus.

B. They are exclusively marine and tubicolous.

C. Fertilization is external and development is direct.

D. Clitellum 1s conspicuous during breeding season only.

PEADODHL D020HOD DT TR D800,

A. DB DB :35:3“%:@6 YD oo,

B. @ 20rgor 2@y 86 v’ eotrow.

C. 23°33) DOASBEIR, DAL VDA BPYT AW

D. 205”3\ 5°00¢5" A3 SH00 DRNWOTT oD,

Options :

1.8 A, C
2. % B.D
32 C.D

4. Ty B. (:

Question Number : 47 Question Id : 5500532447 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The spermathecae in earthworm are present in
T A0S BOSTarEen &0l ot Tren
Options :

1. %



th th
8" and 9~ segments

8 9P a0l aren

3™ and 4™ segments

379 4% ayol@ren

6™, 7%, 8% and 9% segments

6ﬂ1 . ?ﬂl . Sﬂl ’gﬂl
3. %

2OCTTE

15® to last segment

15 2008 DH6 ol o HEL

Question Number : 48 Question Id : 5500532448 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Choose the correct combination among the following

Class Part function
A. Bivalvia Radula Rasping organ
B. Scaphopoda Captacula Capture of food
C. Pelecypoda Crystalline style Digestion of starch
D. Cephalopoda Osphradium Water purity testing

408 T8 DO @ SoHedd TEY HBotHw

86110 e o
A @J@SQ&J“ T Qg 9HaH0
B. Sﬂ&ﬁﬁ@m S“%”E‘DS&J" ST 608 0D
C. 200 8¢ doco oGV A5
D. 208’ e &r)dabo B (8 B0 DBED
Options :
1.2 A.D
> % B.D
4.¢ B.C

Question Number : 49 Question Id : 5500532449 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The gene that is believed to play a key role in human language expression is
SrOPE @rap Hj396e Dnohod’ Sug Y Taod wiD
Options :

1. % P53
> v FOX P2
3 # P53

, « BRCAI

Question Number : 50 Question Id : 5500532450 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Assertion (A): Pneumaticity of bones 1s the unique feature of reptiles.

Reason (R): Air sacs associated with lungs of birds facilitate continuous
oxygenation of blood.

Qayd0 (4): m@wi’{geﬁsu £DA Yodio BRIG B D3 V0.

56620 (R) : draiufitned edndomrdo Sobetco dvd DEo0
22888000 Dodto 6T s @S wodIraw.

Options:

Both A and R are correct and R is the correct explanation of A.

- A 800 R en Godlr 2GR, 08ain R a0 AL 288 DdH6es.



Both A and R are correct but R is not the correct explanation of A.

A H08a3n R en Godlor D0, 57 R 93008 AL 280 Daddes se.

A 1s correct but R 1s incorrect.

, » ARTRE IR 82

A 1s incorrect but R is correct.

, o A By 5D R P8,

Question Number : 51 Question Id : 5500532451 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Identify the structure found in the early embryonic stages of amniotes that provides

a clue to their aquatic ancestry.

& S00T8S rB(%v w08 DB Agrdod Hockad TGS 5% Joy e

Options :

Endostyle
| » @056 2Heho

Nuclei Pulposi

DG\ Sogsren
2. %

Nonfunctional Pharyngeal pouches

, SO 50 S7oen



Air Bladder
o308 %0

Question Number : 52 Question Id : 5500532452 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In microtubules, the peripheral doublets are interconnected by linkers called

Arg) Tsus” DB ohor¥ Arg) TR wVVETR0 B osthd
Options :

Nexins

Tubulins
e020{d0

Dyneins

G0

Actin

@%5

Question Number : 53 Question Id : 5500532453 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Identity the correct statement in relation to Paramecium
FT D000 020H0D & Fo&d VE)D) TS’ HFHE
Options :

Macronucleus is diploid and micronucleus is polyploid.

;nme_:réogéo CS(0% DA%o HOAs WrE) Sogoso aam%@éo.

Macronucleus 1s polyploid and micronucleus is diploid.

ArwSo@so wTUNG% HBAL ArE) SogosSo SoNBo.
2. o o ~ G " )

Both macro and micro nuclei are diploid.

Are H00A5L ArE) SodsTen Gotr BabISS e
3 ® L &

Both macro and micro nuclei are polyploid.

Are 803D ArE) Sods a0 Sots eSS D
4.% @ ) @

Question Number : 54 Question Id : 5500532454 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Mild tertian malaria is caused by

Q:xg ﬁgcﬁ:}.ﬁ ST BoITN) genriEa 2
Options :

Plasmodiim vivax

- P dabo D8y



Plasmodium ovale

L. hﬂﬂﬂzdai)o 2sdes

Plasmodium falciparum

. 53092 2avo ﬁv%i}cfa

Plasmodium malaria

L §°J3 dao vefoad

Question Number : 55 Question Id : 5500532455 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Assertion (A): Life cycle of ectoparasites is more complex with many

developmental stages.

Reason (R): Developmental stages of endoparasites have better chances to reach
definitive host.

Ao (A) : arery TR Epo £ g0 WIS BDHY St drd

ROSQT 208008

5230 (R) @ e00hd TR 250 &' G @i}éags G33e0 Dgg 9ROV
RO HTFED .DSJ;_T:J.
Options :

Both A and R are correct and R is the correct explanation of A.

. A 80 R en Gokor 28, 2800 R 90080 AL 28 Dddes.
1.



Both A and R are correct but R 1s not the correct explanation of A.

- A Ho8ain R @0 Godtr 28, 3°Q R @908 AL D8R D6 5°c.

A is correct but R 1s incorrect.
- A 2058 520 R 9.

A 1s incorrect but R 1s coirect.

v A 33y 5°0 R 2808.

Question Number : 56 Question Id : 5500532456 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Among the following nocturnal periodicity is exhibited by

& 308 T°AS” DTSV BDHEHo PGB 0BG
Options :

Sausage shaped larva
TS 35283 Goso

1. &

Microfilaria

ULl Telovty
2.9 %

Ookanite

5 x €S

4. %



Rhabditiform larva
TDAIE), oo

Question Number : 57 Question Id : 5500532457 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Assertion (A): Mary Mallon was nicknamed as “Typhoid Maty’.
Reason (R): Mary Mallon spread typhoid for several years through the food she
prepared.
D380 (A) : 6 ogr & ‘Barané DB 0 Taredde Hobd.
56e0 (R) : 08 20gre Sdo Sairdhido eifbo oo 57 doddyoren

Barawé 0 T 308,
Options :

Both A and R are correct and R is the correct explanation of A.

_— A 08050 R e Gottr D8R, <8030 R @920 AL 288 DHGes.

Both A and R are correct but R is not the correct explanation of A,

; A 08030 R 20 Gotir 20D, 570 R 092008 AL 208 D68 5760.
2.

A 1s correct but R 1s mncorrect,

, . ARORE DR Sy,

A 1s incorrect but R 18 correct.

L« A SD) DR DTG,



Question Number : 58 Question Id : 5500532458 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Prochordate that exhibits bioluminescence
2SV0ERD D808 TS S°BE5
Options :

Chaetopterus

26D
.. ]

1. %

Pyrosoma

gl

19}

2. %

Firefly
- SEMAIED EHELMAD

Jelly Fish
) v 803

Question Number : 59 Question Id : 5500532459 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The integral form of the exponential growth equation is
D&y TRJAHES BB DALBERY ROBHIES B0

Options:



dN

=(b—-d)N
T
dN_rl (K-N)
, « At K
dN
=20
5 % dt
N,=N_e"
4. &

Question Number : 60 Question Id : 5500532460 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Identify the correct option

Statement - (S-I): Haemoglobin binds with oxygen in oxygen rich areas and
leave CO,

Statement — IT (S-1I): Haemoglobin is an amphoteric compound

RO DuyFRY Dot
g -1 (S TAFADD O 3l $D6d Fomrod” udyad &
deror) CO; &0 69 Dwod.
4 5 o, o w
T4 — I1(S-II) : &&Pﬁei)b &Sasa?b ~O03( dﬁ“gﬁ.
Options :

S-1 and S-II are incorrect.

S-1 208030 S-I1 Go&ks® VBRI 5°).

1. %



S-I is correct and S-II is incorrect.

5 % S-1 DS 206030 S-II PBHE 7.

S-I is incorrect and S-I1 1s coirect.

3 % S-1 DG 570 L08ad S-1I BBHE.

S-I and S-II are correct.

4 S-I 08030 S-II Godlae DBDD.

Question Number : 61 Question Id : 5500532461 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Find out the correct match

Set —1 Set —1I
A. Carbohydrates i. Nucleosides. Phosphates
B. Proteins ii. Glucose. Fructose, Galactose
C. Fats iii. Amino acids
D. Nucleic acids iv. Fatty acids, glycerols

308 T8S" DBADD 2SR BB

Set—1 Set —1I
A B e . ASOIrR, SPrnew
B. @éf’jéb ii. Ar8'8, P8R, derSs
e, 553359.13 iii. @S esdren
D. So@srarren V. R edren, Afuoed

Options :

. ®x A—i, B—iii, C—iv, D—ii
>, s A—1, B-iii, C—1, D-1v
5 =i, B, C-iv, D=
2 x A<i, B—iv, C-iii, D—1i
Question Number : 62 Question Id : 5500532462 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Sino-Atrial Node (SAN) is situated in
NT°SBS® Se) &0t Jrodo.
Options :

Upper right corner of the right atrium.

DA 808 A D TR
1.4 £d

Lower left corner of the right atrium.

D& 885 &P SocrT
2. %

Upper left corner of the left atrium.

D) 808 JED D TR
3. % L

Lower right corner of the left atrium.

et 488 LA D) Sodore
4, % L2

Question Number : 63 Question Id : 5500532463 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the column I with Column II.

Column -1 Column - II
A. Coronary artery disease 1. The blood pressure above 140/90.
B. Hypertension it. Accumulation of calctum, fat, cholesterol in
coronary arteries.
C. Angina pectoris iil. Heart unable to pump sufficient blood
D. Heart failure iv. Chest pain caused by Ischemia

288 Tao 28 T8 adotdiw.

A $820 G B 1. 65 Déd0 14090 o8 Dy,

B.ogg 6Tty il otbo, Sy, ETHTES S8#8 G’ DS A deko.
C.woxar D860 il Mod i’ Arerdod’ 6o wod dandsado.

D.imydah poefo iV, 9R\daird doaded o Soy

Options :
| % A—=1 B=m.C—uD-=1v
Z.q,A—lLB—L C—1wv.D—-m

.« A—ii.B—i C—iii, D—iv

, x A—iv,B—ii, C—i, D —iii

Question Number : 64 Question Id : 5500532464 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



One of the following is not a part of light band of myofibril
308 S’ 5046 Arg) Bod0PHSE'D TodBoBRY DY &' AL SAG
Options:

Actin

038

1. %

Myosin

HOATRD
2.

Troponin

VDD

33‘-;\._1

Tropomyosin

§ P BODBIrDD
4,

Question Number : 65 Question Id : 5500532465 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Arrange in sequence the following events related to mechanism of hearing

A. Hair cells bend and press against Tectorial membrane.
B. The induction of ripple in basilar membrane.

C. Eardrum vibrates in response to sound waves,

D. Tmpulses transmitted to brain.

E. Transmission of vibrations through ear osscicles.

V3G DIOHL V00BN & 06 VoPRAVA T FAWE VG0,
A Bogrren 20h BFBaHS S0 ot wdd SBAoL,

B.8er6 (esinnd’ k) o0 dé b,

L. %gédom@&‘o 09 0AdER0TT sgéiﬁ f‘ﬁé:ﬁo g0a00t308).

D. & e’ tiren D Bw.

E. e.efga:;omﬂ 0" HEOOTV ©9DDITA0.
Options :

, v C.E.B.AD
, « B.A.D.E.C

. x D.C.B.E.A

. % C,B,E.D.A

Question Number : 66 Question Id : 5500532466 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



One of the following is not a second messenger in hormone action

S0¢s QD TBS” BB TTTHEH 28
Options :

.« CAMP

Calcium
s=&ado
-

2. %
% IP,

Sodium

4 g alosble

Question Number : 67 Question Id : 5500532467 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Identify the correct match of the gland with its respective hormone and its function

3083 @bgm&«é TS Fod T Howoded i8R bato DS DO wsd

foBotsodt

Options :

Carpus luteum - Estrogen - Support pregnancy.
561D oD — GBS — (oey 3 DEBocito.

1. % > = -

Thyroid - Thyroxin - Regulates blood calcium levels.

- Froné - Fo°SS — 8goes” SR gvcm:} SA0DEH0.



Anterior pituitary — Oxytocin — Contraction of uterus muscles during child birth.

P 2OhA ffod - 5535%5 — 330 2dd0 D00 (e $05 oo

3 % o8 0.

Posterior pituitary — Vasopressin - Stimulates reabsorption of water from Distal

Convoluted Tubule.
26 O0PA (o - TPV - B 20598 Todf A cBog), &

Fhmsm HDo.
4.9 >

Question Number : 68 Question Id : 5500532468 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Find out the primary lymphoid organ from the following

068 @D THS &0oc TGS Dodrond wHaa ) Hotsod.
Options :
Spleen

a0

g

1. %

Lymph nodes
L x T REDSEVRDLD

Thymus gland
- B0 fod



Tonsils
B ESARA

Question Number : 69 Question Id : 5500532469 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose among the following that are cellular barriers of immunity

a) Saliva

b) Neutrophils

¢) Cytokines

d) Macrophages

e) Lysozyme

f) Monocytes

408 T8¢ BHAT 353D Fod Ze08RD ITTrO KHBoN0E.
a) rerR0

b) &S S e

¢) 255D ew

d) Qﬁuaﬁié Seen

e) OB

f) ArSe5 e

Options :

1. ® El.b.C

, v b.df

3 xade



4. F 1-]. C.f

Question Number : 70 Question Id : 5500532470 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Identify the correct option

Statement I (S-I): Test tube baby undergoes development within the test tube.

Statement — II (S-IT): In IVF-ET method fertilization occurs inside the body.

RBEHA B\Fy DBockin

Tl (S-I) 1 8 e 30 DES & 30 abog), HCDEL B e
& 2600008

orjf- [L(S-II) : IVF - ET :J%Séeﬁﬁ pub5de0 3660 0w 20MHd08.

Options :

S-1 and S-II are correct.

- S-1 208a30 S-II Sodoe DBID.

S-1 1s correct and S-IT is incorrect.

_ S-1 286 20803 S-II DBIE s°¢0.

S-I 1s mmcorrect and S-1I1I 1s correct.

- S-1 2BHE 570 2088 S-11 DEVE.

4.+



S-I and S-IT are incorrect.

S-T 080300 S-IT Bocta® DBDD S°e).

Question Number : 71 Question Id : 5500532471 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
The notochordal mesoderm induces the overlying ectodermal cells that are
involved in the formation of
003 LGRS ST TP 63) BT STV HES0D 6,655
07 2
Options :
Neural groove

| x TG TG

Neural plate

o>d DOSH0
2.9

Neural tube

. & oo

Neural gland
TG (50

4, %
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The double layered fold of peritoneum that connects the ovary with the wall of
abdominal cavity is
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The universal donor blood group is
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In hymenopteran insects the unfertilized eggs develop into
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Scientist associated with DNA sequencing is
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Duchenne muscular dystrophy is an example of
DY) Yol £ & $08 IS &TETSe
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X- linked dominant imheritance
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The connecting link between reptiles and mammals is
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Among the following the incorrect pair is

308 TS DBD S =S
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Theory of catastrophism — George Cuvier
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Theory of Biogenesis — Louis Pasteur
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Introduction of Genetically modified DNA into eukaryotic cell is called
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In Multiple Ovulation and Embrvo Transfer method. the stage at which the

embryos ate transferred to surrogate mother.
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The most accurate measurement among the following is
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The driver of a train moving with speed V", observes a train moving at distance ‘d’

ahead on the same track slowly in the same direction with a speed V", The driver

applies breaks to give his tram a constant retardation ‘a’. If there was no collision
between the trams, then

Vi 8¢ & pairedion) Gen &' 6, 6 ardo ‘d’ drdods’ wd B3 ddy.B
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A point ‘P’ on the wheel of radws ‘R’ 1s mitially in contact with the ground. When

the wheel rolls forward half a revolution, the displacement of the point P is

R o o) 2.8 550 6 &) 28 Dot ‘P #r Ty &. o
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An electron moving along positive x-direction with velocity 2¢10° ms™, enters a
magnetic field of B= {i +47+3k ) T. The magnitude of the force acting on the

electron is
08 QTS 6 X - w0 686" 2410 ms” St B- (1 F4743K) T O3 08
£808° HOrEianod, & VT P D B ww DBATHR0
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The time taken by a net force of 10 N to change the velocity by 4 ms™ of a body of
mass 10 kg is

28 98 o 10N dod a8 10 kg 85072 o S0 R Ay 4 ms”
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A car 1s moving with a speed of 5 ms™ on a circular road having radius of curvature
10 m and coefficient of friction 0.5. For the safe journey of the car, the banking angle
of the road should be

(Acceleration due to gravity = 10 ms?)
5T m@*’go 10m ooty des esso 0.5 o ws 05,8756 Drdo dowd 5ms”

A0S E00T 28 56 DOIrEIotHLD, arjoSofs Seasn
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The work done in lifting a body of mass 2 kg from the surface of the earth to a height

10mis

areddoo dooct 2 kg 35003 fo a8 SR 10 m Ay GRS It
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A block of mass 1 kg is attached to a horizontal spring and rests on a horizontal
surface with co-efficient of friction 0.4 as shown in the figure. If the body is
displaced by 1 cm by the tension in the spring. then the work done by the frictional
force 1s

(Acceleration due to gravity = 10 ms?)
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A girl of mass 30 kg stands at one end of the plank of mass 120 kg and length 4 m.
Initially the plank lies at rest on a horizontal frictionless surface. If the girl walks to
the other end of the plank, the distance that the girl moves relative to the ground is

120 kg da550°3 o0k 4 m JED) o 28 v ws D96 30 kg BT o 8
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The translational kinetic energy of a circular disc of mass 1.5 kg rolling on a

horizontal surface without slipping 1s 24 J. The total kinetic energy of the disc is
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A simple pendulum is suspended in a car moving on a circular track of radius R with

a uniform speed of 4/1.732gR . The pendulum is making small oscillations in a

radial direction about its equilibrium position with a time period T.If the car is at
rest, the time period of the pendulum 13

R {0 fio a8 9,750 ardod’ |1.732gR 03¢ & B8 8 s
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The equation of a particle executing simple harmonic motion 1s
x=asmot+b cos of . The maximum velocity of the particle is
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A satellite of mass 500 kg is in an orbit around the earth at a distance 0f6.67x10°m
from the center of the earth. The speed of the satellite is

(G=6.67x10™" Nm’kg™. mass of earth = 6x10*kg)
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The bulk modulus (B) and compressibility (k) are related by
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A fluid flows through a pipe of diameter 5 cm with a velocity 2ms™. If the pipe is
constricted to a diameter of 3 cm, the velocity of fluid at the constriction is
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According to Newton's law of cooling. the temperature of a body is ‘T at time ‘t’

and temperature of the surroundings is T, The rate of change of temperature

T | s ‘ ‘ .
i k(T.-T) If the initial temperature at time t = 0 is Ty then the temperature T is
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Two identical balls ‘P* and *Q’ are moving with the same velocity. If the velocity of
‘Q’ 1s reduced to zero and that of ‘P* is reduced to half, the ratio of change in
temperatures of ‘P to ‘Q’ is
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A solid cylinder of length ‘L" and diameter ‘d’, made of a material of specific heat
capacity ‘s’ is rotating about its axis with ‘n’ rotations per second. When stopped,

50% of its energy is used in rising its temperature. The change in its temperature is
‘s’ mgg av.mgéa K0 S'irod Sofor, ‘4’0 dobako T TED) o s 20
R0 879 @50 DOOTT RS 1 FeeF0 008, 6 a0 T IR, T
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The external work done when air expands from 10 litres to 15 litres at a pressure of 2
atm is

HMEIMm=1@Nmﬁ
2 atm 0 36 10 Bead G006 15 Beag 56 DaBodday o, ey 0 Dewid
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If the temperature of a gas is increased from 27 °C to 927 °C, the rms speed is
WS TANY ), %fgsgej 27°C Aood 927°C 3 H6AD, 1ms H&
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The superposition takes place between two waves of frequency ‘f" and amplitude
‘a". The resultant intensity is directly proportional to

ﬁ‘éa@éﬁo (f) svBain god HONE (a) DA Totky Bborren 9355“566:30930
B0t S 1A HBS ot B3 & S0d IS BV WS SrdusFded
60008,
Options :

1.% 4

Question Number : 102 Question Id : 5500532502 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A thin oil layer floats on water. A ray of light makmg an angle of incidence of 45°
shines on o1l layer. The angle of refraction of light ray in water is

(;uoil =154, Hoater = ]33)
28 DU AT B6 A G030 6 Bewso) 8. w8 508 $6e0 457 DAY
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The resultant amplitude of superposition of two waves y; = a cos of and

y; =4 Cos (i) 18

y1 =4 Cos M uBakw Vs =a cos (Ot+0) e Sotd Soridnen @wéﬁﬁmmm
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The magnitude of electric field intensity ‘E is such that, an electron placed in it
would experience an electrical force equal to its weight. Then the value of ‘E’ is

(e - charge of electron. g - acceleration due to gravity)
DS £ 83 o DS Edo8” w8 QgD D G0 T 6 23
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A particle of charge q is shot with speed V" towards another fixed particle of charge
Q. Tt reaches Q upto a closest distance ‘t” and then returns. If q were shot with speed
2V then closest distance of approach of Q is

ijgcs"ééo q o w8 Seadwdo, V7 H3& K}%:)e.m f‘gééﬁ &d) Q Dmsmééo e3)
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Two capacitors of capacities 10 UF and 20 uF are connected in series across 200 V

source. The charged capacitors are disconnected from the source and reconnected in
parallel with their positive plates together. The potential difference across each
capacitor is

S8 1011F, 20 UF tfo B0 Saratd vy 200 V o 28528 336" $dard. &
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The charge flowing through a resistance ‘R” varies with time as q = at - bt* where
a,b are positive constants. The total heat produced in R is
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In the given circuit, the reading of ammeter is
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A magnetic field of 1T is acting on a wire carrying current of 1A so that the wire is
at rest in air. If the mass of the wire 15 100 g then the length of the wire is

DS 1A pSarod) a8 & S’ DS eotrdt & &t 1T
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The radius of the path of a charged particle of mass ‘m’ and charge ‘q" moving with
a speed v in a magnetic field B 1s given by

WO 08 Edo B & ' (o Sobaky ‘g Desxeriddo v ws St v S8
Q08 T A7 (Ao
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If the radivs of the earth is 6.4x10°m and its magnetic dipole moment is
1.3x10” Am’ then the magnetic field at the equator is

Zrad migﬂﬂgo 6.4x10°m 6ot o w030 08 o 1.3x107 Am’ @0
Fr0cs| G H¢ ah) 00 £
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A changing current in a coil can induce an emf in a nearby coil. This process is
Sichotd’ Arddud) AE, 08" Sricuexd” emf D HEHod DS
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The resistance R, the inductive reactance Xy and the capacitive reactance X¢ of a
series LCR circuit connected to an ac source are related by R = 0.6 Xp =3 X¢. The
impedance the circuit is

28 aC 235°08 gwndd 28 36 LCR 0008’ o R, adsa; 20860 X1
S8t 52508 2380 Xe v Scs) dowodso R =0.6 X, =3 Xe. doaod’
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The variation of charge q with time t on a parallel plate capacitor is given by
q=q,cos ot. The displacement current through the capacitor is

8 DAT0dE DOV SFHnb P Swot & Ard DAo[era%0( = ¢ cos0t 1P
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The de Broglie wavelength of an electron in the first orbit of hydrogen atom is
TE k) HEAPEY Y, MG SET' JoFR g, & grod 3601380
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Time:0



; . o
The speed of an electron in an orbit of hydrogen atom is — times the speed of

light m vacuum. The kinetic energy of the electron in the orbit is

TES DEAFPE'D 28 $56° JoTdd S, 3| Ardgd” 08 S

iém sgﬁb Qo0 o) (182 %3
274 F 8 &

Options :

s 346V

, .« 1026eV
13.6 eV
&

« S54eV

Question Number : 117 Question Id : 5500532517 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Among the following the possible nuclear reaction is

S08 b5 JresiPady Sogs e

Options :
"B+:;He—> N+ H

1. %

Na+,n— Ne+ He
2. % )



239 239 - G
"Np— Pu+e +v
3 93 p o4

N+ H-—3 (C+e8 4T
4.%

Question Number : 118 Question Id : 5500532518 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In a transistor amplifier used in CE configuration, the phase difference between
input voltage and output voltage is
CE s Ery06 96508 D% S tobatn A STae dods| dTaico

Options :

1% 0°
2. % 90°

5« 180°

Question Number : 119 Question Id : 5500532519 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



n-type semiconductor is formed when germantum is doped with
n-6S0 edT<rso Tockoers) &) dabosy BAE Brbdtmo BoHIT.
Options:

phosphorous

boron
S or D

aluminum

@wigibfﬁoﬁ:o

mdium
QoG o300

Question Number : 120 Question Id : 5500532520 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The intensity of ground waves decreases with the increase of distance travelled is
due to

Qoiradrdo 28 SO 2r Sdore S8 6 S S
Options :

interference

) aﬁééscﬁmc
1. %



diffraction

5 DG
polarization
&30
3. %~
dispersion
. DEDEI0
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Question Number : 121 Question Id : 5500532521 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Which of the following contains 10 electrons, 11 protons and 12 neutrons?
308 A" GBI 10 TS v, 11 Ferd e Bk 12 ArgEerd e
Gotra?
Options :

BN

1.9

.z
Na

4. % EONE+

Question Number : 122 Question Id : 5500532522 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

S L - S ey S
The wave number of a photon 1s 10" cm™. What is its energy in J°

(h=6.6x10"Js :c=3 x 10" cm ™)

ws erd 8ol 203 10 em™. =9 33 J o0& do?
(h=6.6x10*"*7Js:c=3 X 10" em 5'1)

Options :

| @ 3x10" xh



=
e 3x107" xh

L x 3x10°xh

4 % 3%10 5% h

Question Number : 123 Question Id : 5500532523 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The element with atomic number 118 will be
relelubalich ;’.:m;-::?g 118 e Sooreso
Options :

Alkali element
. 6 SHoaredo

1. %

Lanthanide

erodd&

Noble gas

3 @ REE TTO3V

Transition element

4w 2OOED durwso



Question Number : 124 Question Id : 5500532524 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Match the following

List—1 List —II
Atomic Number (Z) (Block)
A 117 Ls
B. 87 II. d
C. 70 IML. p
D. 46 Iv. f

308 T BSDHGN0G

2o — 1 e — 11
(DBDeR Doay) (e°<0)
A 117 Ls
B. 87 II. d
.. 70 L p
D. 46 VA
Options :

1. » =T B—LC—H,D- TV
5> o =L Bl 0V, 1y =11

3 % A== 1L BTN, O], Dp==11

4% ATV, B—IL €—1. D111



Question Number : 125 Question Id : 5500532525 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
; : ; + + g g
The number of antibonding electrons in N; ', 0,2, Oy~ is respectively
Tt i e s R 2 o
Ny .0y . 0 08 edeodds QUE"Q 2030 SHEDT

Options :

6. 5.4

, x4 4,6

Question Number : 126 Question Id : 5500532526 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The total number of electrons in antibonding molecular orbitals of O» is

0; &' 99800658 e9gad LA &' awdo VTR © VOV
Options :

1 = 10

2. % 4



4. 6

Question Number : 127 Question Id : 5500532527 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Identify the correct statements from the following

(I). According to Charles law, at constant pressure, the volume of a gas is
directly proportional to its temperature
(IT). The rate of diffusion of a certain mass of a gas is inversely proportional to
its density, at constant pressure and temperature
(III). The kinetic energy of a gas is directly proportional to T (K)
The correct answer is

308 T’ 2BQLD fa L& hocdosw.

(D). 5% Ao P60, 6 DD D6, 28 TR WHDBAFE
o el 08 ArdusFdos” otod.

(I). 26 20, el o0 56 ALY GITR o TADY D e
Fodd £ DT SrdoFrdos Gotwod

(III). % arodw (3z%3 o T (K) S edod ardodded’ sotnod.
20GDD DAPEEHIW
Options :
I, IIT only
I, I soegdad

1.4



L« LILTII

I, IT only

I, IT &oee3 3o
3. %

I, IIT only
LI AIPH0

4.

Question Number : 128 Question Id : 5500532528 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

At300 K, 1 gof an ideal gas (A) exerted a pressure of 2 atm in a closed container.
When 2 g of another ideal (B) was introduced into this container at the same
temperature, the pressure changed to 3 atm. The correct relationship between molar
mass of A (Ma) and B(Mg) 1s

300K 56, 28 Survd ¢, 1 g 6, ol (4) $dod 05w 2 atm,
23 agﬁgeﬁ 565, & FEGV3 2 g v 908’8 866, Tk (B) K0 oD
26050 3 atm £ $7808. A Arerd Gged (Ma) o0ain B drerd §o(0°2

(M) © 68§ 0G0 Bowotso

Options :
1. % 8 I'VIA 5 MB
, » Ma=4M;g

.« Ma=Mp



4 v 4Ma =Mz

Question Number : 129 Question Id : 5500532529 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Match list I with List II

ListI List II
A. Law of conservation of mass I. Dalton
B. Law of multiple proportions II. Joseph Proust
C. Law of definite proportions III. A. Lavoisier

IV. Gay Lussac
308 TP 2 DAAW

o —1 o — 11
A. BO] (ST Qab [ o
B. a3(aoaed dodododun L &20 D
44 f‘&})maﬁa.ﬁ‘?eﬁ DB 1L A. 832006
IV. fevrs

The correct answer is

2B DAFGTD0
Options :

| wA=TILB-LC-TI

> x A=IV,B—II,C—1III



x L= B C~=]

L% A—IV,B—1, C-TI

Question Number : 130 Question Id : 5500532530 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the standard molar enthalpies of formation of C,H.OH(I) COy(g) and HyO(l) are
-278, -394 and -286 kJ mol™ respectively, the standard enthalpy of combustion of
the reaction C,H,0H(1)+30,(g) - 2€0, (g)+3H,0(1) (in kI mol™) is

C,H,0H (¢), CO,(2). H,0 (&) e arer d08iam dowrdyeo scirr -278,

-394, -286 kT mol™ evan® C,H.OH (&)+ 0, () —2C0, () 3H,0 (&) &
90§ Ve Qloc;r@b (KJ mol"0&")
Options :

% —1646

5 % 1646

4, v —1368

Question Number : 131 Question Id : 5500532531 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
Which one of the following options is correct for q = -ve and w = +ve

q=-ve, W=-+ve eond 308 wzﬁ')s“e.mf}a 56 0006 DA?
Options :
Isothermal irreversible expansion of an ideal gas with constant external pressure.

i 20 £P 2608 BG6, o) AAPY emg:gbme%om ;5“5%6::’30
1. ' k: )

Isothermal irreversible compression of an ideal gas with constant external pressure

20 ey 2EH0E 3658, TaH0Y) DAY WS, esad woS'to
) & @ - @ b

Isothermal reversible expansion of an ideal gas against constant external pressure

20 iy 08 B6) T HAFY &, Horah TS0

3 # ©

Irreversible expansion of an ideal gas into vacuum

. GG, TORND) D[ 0e’S e_amgbmeém auzggﬁm

Question Number : 132 Question Id : 5500532532 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A, B and C are weak acids. Their dissociation constants (K, (A), K, (B). K,(C))

are 3.5x10%, 1x10™ and 5x10™ respectively. The pH of 1L of 0.01 M each of
these solutions follow the order

A. B 6050 C o0 a)0erd earen, T8 Joirad JTOT)

(K,(A). K, (B). K,(C)) st 3.5x10%, 1x107 sodosw 5x107™°. 98 1L 0.01 M
grarre pH oty gavsw

Options :

1« C>B>A
> xA>B>C
3. % B>A>C

4. % C=A=>B

Question Number : 133 Question Id : 5500532533 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

500 mL of 0.1M HCI mixed with 500 mL of 0.02M HA(weak acid) solution. To
this solution, 2 g of solid NaOH 1s added. What is the pH of resultant solution?

(Given K, of HA is 4x10™, molar mass of NaOH is 40gmol™; log 2 = 0.3; log 4
=0.6)

500 mL & 0.IM HC1 & 500 mL 0.02M HA(2)00:2é e5:00) raeesd $dard. &
G 2 g o 08 NaOH J $9arth. 8¢ grivesiy) pH dods? (wdydd: HA
ooy, K, deos 4x10™; NaOH ciog), drerd o3 40 gmol™; log2=0.3:
log4=10.6)



Options :

| T

4' i’ 4.7

Question Number : 134 Question Id : 5500532534 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Among the following correct statement 1s

Sobs TS’ DO gy
Options :

Saline hydrides react slowly with water

|, POS TEs e DOE D0 BT 58] 2ERD

All elements of group 14 form electron — precise hydrides

14 5 70 Sar0s0) VTR PDBOT (0 FEE © DB W
2. v R = >

BaCl,. 2H,0 has hydrogen bonded water

. BaCly. 2H>0 & 203 220688 200k SO &otwod.

4. %



Density of ice 1s more than that of water
B0 A Lol FoFd JLy D

Question Number : 135 Question Id : 5500532535 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The alloy formed by lithium with metal “X" is used to make armour plates. ‘X’ is
X' o0 S5rod DBaso D6\6i8) Q3 B, IR SLrdd S
EHATATD. X 0058

Options :

.o Mg

2. % Pb'

3 % Al

4 % SN

Question Number : 136 Question Id : 5500532536 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Identify correctly matched pairs

I. Borax Na>B40O7.10H>O
II. Kernite Na»B40O7.7TH>0
III. Bauxite AlLO;.HO

IV. Cryolite Na3AlFs

DO 22 BADLGED 2ol (dosod
L §'o°8y  NapB407.10H0

II. 53\ &5 Na,B407.7H,O

1L er3y¢S  ALO;.H0

IV. $B585 NazAlFs

The correct answer is
RBADR DI
Options :

L. IIT only
- L. IIT shoeeha

IT. IV only

I, IV &eebad
2. #

I, IIT only
I1, T Soegdhad
3. % =

[, IV only
L IV sorgddo
4.

Question Number : 137 Question Id : 5500532537 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The allotrope of carbon which is used as an abrasive for sharpening hard tools is

)6 DAZVLR VAW WOEFS WDLESrT (abrasive) &AIrAocied
SN drarodido (allotrope)
Options :

Graphite

Fullerene

2. % @yaé

Diamond
3 v 800G

Carbon black
5°6y® &S

4, %

Question Number : 138 Question Id : 5500532538 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

ey, Alc. KOH &= Lig. NH;
CH;-CH(Br1,) - > X m— > Y
Nal ¥

In the above reaction the products X and Y may be

2% ABEIGED SO, Sokr 2dejen X Sudoko Y e SR



Options :

CH,=CH-Br , HCO=CH
1. ¢

5 % HC=CH : CH,=CH-NH»

5 CH=CH-Br , CH,=CH-NH;

, « CH=CH, , HC=CH

Question Number : 139 Question Id : 5500532539 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Identify the correctly matched pair from the following

So8 edeS" DB 2 SaDecd wotdd Bocsod

Options :

18 C—C  —mmem- 120 pm

5 % C=C  —mmeeeee 110 pm

38 C=C —m- 154 pin
C—C Bond length in Benzene -------- 139 pm
802D &° C-C 206 BE0 -------- 139 pm

4. 2



Question Number : 140 Question Id : 5500532540 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following is not correct for Frenkel defect?

308 =5’ 038 5700 LD DA DBEAIE °L?

Options :

It doesn’t change the density of the solid
26 VG0 B, Frogehdy Aty Babed

It 1s also called dislocation point defect
BI Dot FrDBIEdy D0 8 SrE Wotrd

Entropy of the solid increases
2ODDTGBAD AANE), oD DA

It is due to very small difference in the size of ions

L 93D DBATITOS Ao Trer S 5T Sotitro HOD B i}dbciaa‘:a

Question Number : 141 Question Id : 5500532541 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The number of moles of OH™ ions present in 100 mL of 0.2 M Al(OH); solution is

(assume 100% dissociation)

100 mL & 0.2 M Al(OH); grodeoss” OH eosrd 2w 203

(100% Dairad8m Fo6IRD e93& 2030)

Options :



2x107

1. %
- -2
2. % 3x 10

, ,6x107

4% 8x107

Question Number : 142 Question Id : 5500532542 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the following aqueous solution has highest osmotic pressure?
306 TS Q 20 THETIS BS(BS TGN 2ED0 9)0008?
Options:

(W
5.85%| WNHCI
Ex_ Vv /

1.+

3.42%| ¥ | AL(S0,).
K-'T I| 2N 473

2. % s

K.

il v o8
6%| — JUrea
3. ﬁ l"\ 1 o

II.- IT s

18% ’i_ XGlucase

4 . W Y ; A




Question Number : 143 Question Id : 5500532543 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

AG® (in k] mol ™) for the cell reaction is
Cu**(aq) + Fe(s) -» Fe?*(aq) + Cu(s)
, =034V, E . . =044V and F=96.500Cmol ™ |

e

|_wa:11 E -

Cu®*(aq) + Fe(s) » Fe?’*(aq) + Cu(s)
208 SO AGE (k] mol™* &)

=

| E

o o

=034V.E . =-044V.F=96.500Cmol™ |

Cu®™/Cu Fe* /Fe

Options :

+150.5

Question Number : 144 Question Id : 5500532544 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The correct value for log;o K. (K. = equilibrium constant) for the equilibrium
reaction at 298 K

2Fe’" 4+ 317 = 2Fe™t 41 is (E of the cell is xV)

298 K ¢ 20maad &) $6i log;p K. 2020808 20603 duod
o Q :)_ 15 = e

2R’ 4 3172 2Fe™ 417 (2vbo cowg) E'Dens xV)

Options :

0.059x
1, ® 3

0.029x

2%
3 v 0.059

3x
4 % 0.059

Question Number : 145 Question Id : 5500532545 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Identify the correct statements about chemisorption

I) It is irreversible adsorption

IT) Enthalpy of adsorption is in the range of 20-40 kJ mol™
ITI) It is unilayered adsorption

IV) It does not need appreciable activation energy

80500 6T 00 Doodod) VBEHD Toja LA HBoEL
) 28 ebsq(ics 0&F 1690

IT) 085 26 doardy w58 20-40 KJ mol™

III) 28 8 TS 9dF A0

IV) 83 edad 33 ArdabRdd M wdddo S

Options :

IT & III only
IT 0803 IIT srgdan

1. ®

[ & IV only
- I 08030 IV &oredad

[ & III only

- I &08asn IIT g

IT & IV only
4w IT S06adn TV &reedad

Question Number : 146 Question Id : 5500532546 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

From the following identify the favorable conditions for physical adsorption
I) Large surface area

IT) Low temperatures

I1T) High temperatures

IV) High pressures

306 PBRuod) '3 WBT 0 L VowGed) BRULTVRD HEIBV HHGeod.
I) 033 &80 T

1) woy et

M) w034 eg;ge:sm

IV) 08¢ heen
Options :

L III only
. LTI 3r33

II1. TV only

I TV &
2. %

L IITI, IV only
L III. IV &oegsadd
3. % =

[II & IV only
4o L II s0o8asn IV sorgdadd

Question Number : 147 Question Id : 5500532547 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which of the following represents the roasting of the ore?
208 To83e5° DA TN HETAY APDR0E?

Options :

- 200,58 430, =200, 0+80,

ZnCO,; — Zn0O + CO,

2. %

- /nO0+C—= Zn+CO
3. %

Cu,S+2Cu,0 — 6Cu+S0,
4, ® } } i

Question Number : 148 Question Id : 5500532548 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

H,O A 2
200 =X > Y

The number of P—OH, P =0 bonds in Y is respectively

PO, —L 353X 257
Y Qo e P—OH, P =0 oo K::os'.}::ée_u IR
Options :

| % 2,4



S
4
i
LY ]

Question Number : 149 Question Id : 5500532549 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The nature of CrOj3, CrO and Cr203 1s respectively
Cr03, C10 S080300 €103 © DeTH0 OGO
Options :

acidic, amphoteric, basic

83520, &g?b‘se,jﬂaﬁ, x>l

basic. amphoteric, acidic

0, AR, e

acidic, basic. amphoteric

23, ¥, &5}2}53,?55

amphoteric, basic. acidic

4% ARETD, =6, 8



Question Number : 150 Question Id : 5500532550 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The chelating ligand used to remove excess of copper in animal systems is

2080 S50 © S 068 506 H Sfohtrd T SG&h Oroé

Options :
Desferrioxime

G B 95\

1. %

D- pencillamine
» D- 2320000

. « EDTA

8- hydroxy quinoline
8- 35Sy %g.@@é
- o

Question Number : 151 Question Id : 5500532551 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Sodium n liquid ammonia mitiates the polymerization of which of the following
monomer?

308 Q 2rS06 FBbdsderdy ¢ wardobod” Fdato Sr6odiuod?
Options :

- == CN



HEC :CHQ

Question Number : 152 Question Id : 5500532552 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the following represents a-D-fructofuranose?
308 T DO -D-PSRFETE & WrDRed?

Options :
HOH,
1.+
HOH, OH
H CH,OH
5 % OH




Question Number : 153 Question Id : 5500532553 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the following conversions indicate the presence of -CH,OH group in
glucose?

306 ) &r8yd (1§48 & -CH,0H 28upipo €06 APdinoa?
Options :

Glucose — Gluconic acid
BrEE - (8 DS esdo

1.% 7

Glucose — n- Hexane

@S E— n- 5D
2. %

Glucose — Saccharic acid
L o (1788 - 585 esdvo

Glucose — Glucose penta acetate
, % PEE > 1rESH Dotr DDELES

Question Number : 154 Question Id : 5500532554 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Which of the following macromolecules is crucial to comnunication system in the
body?
308 O wyremY) 30608 2irTs wdd & B LIERaY
Options :
Receptors
[RECORSH I

1.‘;‘/ L]

Enzymes

0B O
2. % T

Carrier proteins

, TS TS e

Lipids

4 % OD& e

Question Number : 155 Question Id : 5500532555 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

What is the correct boiling point order of the following haloalkanes?
1) 2-chloro 2-methylpropane i1) 1-Cholobutane 1i1) 2-Chlorobutane

306 AdWAD S BT) S © q0E), HOEDD Eran BB N §0d0 AB?

i) 2-88 2- 0B oI i) 1- 88 aar(SS iid) 2- § aam (53



Options :

1.8 1>11>111

, o ii > il >

3 % 1=11=111

4. % 1>111>11

Question Number : 156 Question Id : 5500532556 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the following reagents convert 1- Chloropropane to Propane?

Mg/dry ether & then H)O ZoH Nal Na / dry ether
I I I IV

308 oz 1- §BTDD & ToO ™ Srdodran

Mg/ Fé& &6 doard Hy0 InH Nal Na/ & &b
I I 111 I\

Options :

1« LI

, « ILTII

5« LTI



4o ILTV

Question Number : 157 Question Id : 5500532557 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Para-nitro phenol has higher boiling point than ortho-nitrophenol. This is due to

58 R DTS S0l FTRE’ DS Dockohy ). ern @I Ao K0 99 Gokiodd
Options :

The presence of intermolecular hydrogen bonding between Para-nitro phenol
molecules

- T A DTS w0 © Stk| oSG PE RS LT Eotiio JO

The presence of intramolecular hydrogen bonding in Para-nitro phenol molecules

FT D DTS oo 0 BRd8 TERS wome Gocto Sud
2. %

The presence of intermolecular hydrogen bonding between ortho-nitto phenol
molecules

i e.eggéf SRS RO Y oSS TERS Lot Gt Sod
3.

The absence of intramolecular hydrogen bonding between ortho-nitro phenol
molecules
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Question Number : 158 Question Id : 5500532558 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the following carbonyl compound reacts with HCN at faster rate?
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Question Number : 159 Question Id : 5500532559 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In the following reaction sequence A and B respectively are
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Question Number : 160 Question Id : 5500532560 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The reaction between ethyl bromide and ethanolic solution of ammonia (excess) is a
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Electrophilic substitution
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Electrophilic addition
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Nucleophilic substitution
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Nucleophilic Addition
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